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QUESTION 1

You need to add an iSCSI host and storage array to your environment. Your manager wants at least two options that
allow all iSCSI initiators to query a central management server to locate the address of all iISCSI resources (e.g., iISCSI
initiators, targets, switches, and management stations).

Which two protocol methods would be used? (Choose two.)

A. Directory Name Service protocol (DNS)

B. Simple Network Management Protocol (SNMP)

C. Internet Storage Name Server protocol (iISNS)

D. Service Location Protocol (SLP)

Correct Answer: CD

QUESTION 2

A line of business (LOB) executive informs you that a new application requires 99.999% (five 9s) of uptime from both
planned and unplanned outages before a service level objective (SLO) will be breached.

What is the amount of permissible downtown per week?
A. 20.16 minutes

B. .605 seconds

C. 5.04 minutes

D. 6.06 seconds

Correct Answer: D

QUESTION 3

You have been asked to secure your FC switches in the data center. Unsecure protocols have already been disabled
but you also need to restrict access to the switches only from specific IP addresses located on the production network.

What should be used?
A. Roles

B. VSAN

C.ACL

D. Zone

Correct Answer: C
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QUESTION 4

Your company does a full backup on Sunday night and incremental backups from Monday through Saturday at
midnight. The full backup requires two tapes and each incremental backup requires one tape. There is a system failure
Wednesday morning.

How many tapes will be used to restore to the most current backup?

Al

B.3

C.4

D.8

Correct Answer: C

QUESTION 5

A small business with an IP SAN and NAS storage is experiencing slow response times on the servers which have NAS
storage resources.

Which two should the storage administrator monitor to determine the root cause? (Choose two.)
A. Latency per NAS port

B. IOPS per NAS port

C. Link speed per NAS port

D. MBps per NAS port

E. I question the question

Correct Answer: BD
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